r'llnh

(b) Phoneme
(€) lexeme

(d) Chinese
10.  Category chan

(a) Derivational
(b) Inflectional
(¢) Functional
(d) Positional

11.

he wanted to leave ',

(a) Want to leave
—fb) Want

(¢c) Wanted to leave

(d) To leave

12. The Lexicon is a:

e n-i-,-:,-}.._...

f
(a) MOrPheme the possible realizations of a-

ging morphemes are said to be -

Identify the NON-FINITE verb in the sentence 'I recall him saying that

(a) Mental dictionary

—b) Dictionary
(¢) Glossary
(d) Word-list

13. Lexical words include:
(a) Pronouns

(b) Determiners
(c) Conjunctions

__{d) Words with lexical or dictionary mea ning
14. The native speaker’s implicit knowledge of the rules of his languags

called :
_{a) Performance

(b) Competence

(c) Syntax

(d) Linguistics
15. When a morphological

it is said to be:
—a) Productive

(b) Creative

(c) Intuitive

(d) Non-selective

rule can be frequently used to form new ¥




-

"In the kitchen she »
ﬂnk
h#'i-

ip English® -1 g [p] as in bits, tips, tacks'
1o iz] afer counds like [s], ] as in 'sneezes, bosses'

() [z] after [d]: [g]: [ﬂ] as in 'dﬂgS, Pﬂds, hens'
(d) [en] asin oxen' and 'children’

6. In a tree diagram, the constituents of a
represented:
(a) llheady
(¢) randomly

S
éntence or 3 phrase
are

7. AIDS is an enmp’e 0 f'
(3 ) Bmmﬁou'
) Acronyp
(¢) Cl[ppmg
@ Neologfsm



illustrates ‘compounding *:

21, The free morpheme in the word ‘institutionalization' s :
| (3) Stitute
(b) Institute
_{c) Institution
(d) Institutionalize

i o WL N ST asaRY iy e I A



26. 1s English ap in
(a) Yes
(b) No
(C)) 111111 Zif; Txceplinnal words
—4d ar pasts f ¥
27. In Tagalog, « pil;’ e,

TSI

the morphe
me : E
(a) - Bin Eﬂﬂl'klng the past in this language.
(b) - nil -
(¢) -ini-—

—Ad) -in -
28. Which of the following statements is correct:
(a) The semantic head of a clause 1s1
(b) The semantic head of a clause is V+1
_{€) The semantic head of a clause is V
(d) The semantic head of a clause is C

'l-"

29. Ip SVO languages, .....c.oeeeee :
(a) complements follow their heads

(b) complements precede their modifiers
_¢) complements precede their heads
(d) complements are optional

30. In morphology, We study:
(a) Affix structure
(b) Prefix structure

__(e) Word structure

(d) Suffix structure
‘Being such a shy P

In the sentence |
in cafes to chat', the FINITE verbis.
(a) Hated

(b) Being

/(c) meet

(d) chat

erson,

5 . S s
eans ‘ buy’ while ‘binili’ means ‘bought’. 1dentify

he hated t0 meet

_.___.p_—'/’

A T s
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32. What determines the grammatical category of a compound is : 29.
(a) The rightmost word
(b) The leftmost word
(c) The rightmost and the leftmost words together

(d) Neither the rightmost nor the leftmost word

33. In English, inflection is :
(a) More productive than denivation
(b) Less productive than derivation
(c) As productive as derivation

—d) Noun-based only
34. The derivation of a Yes/No Question in English of the movement of
(a) V - to — Spec of IP

—(b) V—-to-1
(c) I-to-C
(d) V —to— Spec of CP

35. iu the following string 'a very intelligent student ' the underlined
words make
uL a(n):

_a) AP
(b) ADV P

(c) NP
(d) PP

.. oediiads eee.... refers to the speakers' actual use of language in real life

sifuations
_+a) Performance
(b) Competence

(c) Linguistics
(d) Syntax

37. ...... Is an affix that is attached before the root.
(a) A suffix

(b) A stem
(c) A root

—d) A prefix

38. Which of the following statements is correct: | _
(a) A derivational affix affixes to a base before an inflectional one.

—b) A derivational affix attaches before an inflectional one.
(c) A derivational affix attaches before and after an inflectional one.

(d) A derivational affix never occurs with an inflectional one.



ient o

derliued

eal life

40

42.

43.

45.

the fﬂ“ﬂ“"ing

(a) Build- in
(b) Building.
—fc) B‘Jﬂd-ing_s

(c) Structural amy:.. .

(d) External ma?aﬁi‘fg“y

1u French, Yes/No Q“Esﬁ“n
S

/{a)V-tu-I_tﬂ-C ur"ﬂaﬁ\?ed

e °Y the “Pplication of

'NICEF illustrates :

-'-'(3) An acronym
(b) A blend

(c) An example of clipping
(d) An example of backformation

When a root is combined with an affix_;
(a) An expanded root i, it forms -

_—b) A complex word
(c) An expanded base

(d) A simple word

The inflectional morpheme in 'terchers'is
(a) teach-

(b) -er

(b) The very
(c) The very beautiful

(d) The very beautiful whitt
is an example of backformation
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47. Affixes are
(a) Free morphemes
(b) Independent words
__4{c) Bound morphemes
(d) Base forms

£8. Nmeise is a morpheme tha
a word's meaning.
a. The phoneme
—b. The derivational morpheme
c. The inflectional morpheme
d. The root

49. « nhoose the group of words that cesults from derivation
a. Cry, cries, cried, crying
b. Kind, unkind, kindness, kindly
c. Tooth, teeth
-d. King, kingdom, kingdoms

t makes the most signiﬁnaut contribution 1o

50. A compound is a word that contains ..........c....
a. One prefix and one word
b. One suffix and one word
__e. Two root morphemes and one word

d. Two words



